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Ok
,
we got the steady stele solution , without radial velocities . Seth

a dish will just noble and noble without doing much . Show plot
of time dissipation .

The disks evolve in time ! This is obvious at first
,
since the dish

her to accrete to complete the formation of the star .

.

It turns out angular momentum is a conserved quantity

f = Root = R2R =FR
.

A
gas parcel cannot simply " lose" angular momentum .

It needs
to be hensposted

-

=
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tip is

'

something for engineers, but in accretion dish theory
in the wind 'spot .

Let's understand this process . The viscous force is
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This term will immediately lied to a radial velocity

conservation form
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+ don't integrate
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Both equations can be combined :( substitute v, by 242T in It
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Amazingly enough , for v : de this equation has an analytical
solution Show,

One can also find the expression for the velocity . given 21a
ur ' z÷nF+Hr" )

for constant E and u
,
that yields

ur=3@And

the
mess accretion rak
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One can also define the viscous timescale
.
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These equations allows for comparisons to observations .observations

of 7. Tour
. reveal mess accretion rates of

m x 158 Molyr



Using that and typical MMSN values /Et 103 gkm
')
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Molecular viscosity :
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Seven orders of mynitdl lower then required . forming
a star would take
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Much longer then a Hubble time
.

Another mechanism
,
that acts as an effective viscosity

Wun be invoked .


